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CaiiT «3amaun-perieHne - 3TO pelieHrne KOHTPOJIBHBIX, pEIIeHUE 3aa4 10 (DU3HUKE, PEIICHUE 3a1a4 110
MaTeMaTUKe.

I'MIEPBOJIMYECKUE ®YHKIIMU U

I[EflCTBI/ISI HAJ1 HUMUA
X —X
e’ —e .
shx = Y rUIepOOTUIECKU CHHYC;
e’ +e .
chx = BT rUepOOIUIECKUil KOCHHYC.

OcHoBHbBIE pacyeTHbIE (POPMY.JIBI:
2 2 _ 2 2
ch“x—sh“x=1; sh2x =2shx-chx; ch2x=ch” x+sh” x;

sh(x£ y)=shx-chy+chx-shy; ch(x+y)=chx-chytshx-shy;

shx+shy:2shx+y-chx;y; shx—shy:2chx+y-chx_y;

chx+chy:2chx+y-chx;y; chx—chy:2shx+y-shx;y;
1 _ _

shx-shy:—{ hx+y—chx y; chx-chy:l chx+y+chx Y ;
2 2 2 2 2 2

shx-chyzé[shx;y+shx;y}.



